# IN THE UNITED STATES DISTRICT COURT FOR THE DISTRICT OF COLUMBIA

ELOUISE PEPION COBELL, <u>et</u> <u>al.</u> ,	) ) No. 1,06CV(	1205
Plaintiffs, v.	) No. 1:96CV( ) (Judge Lamb	
GALE A. NORTON, Secretary of the Interior, et al.,	) ) )	
Defendants.	) ) )	

#### Report to the Court

In its Order of September 2, 2004 (Dkt. No. 2665), the Court, over Defendants' objection, directed Defendants to disclose "all funds that defendants have used to pay private attorneys for fees and costs incurred with the present litigation for representing employees or former employees for the Department of the Interior through July 2004," to include "the hourly rates of each individual attorney who performed any work" and "the total number of hours billed by that individual attorney." As of July 2004, the Defendants — the Department of the Interior and the Department of the Treasury — have not used any funds to pay private attorneys for fees and costs incurred in connection with the present litigation for representing employees or former employees of the Department of the Interior. The Department of Justice, however, has paid private counsel fees and costs in connection with this litigation, pursuant to guidelines set forth at 28 C.F.R. §§ 50.15 - .16, which authorize representation of federal officials in their individual capacity in legal matters relating to conduct performed within the scope of their employment.

<sup>&</sup>lt;sup>1</sup>/<sub>2</sub> Amounts previously reported to the Court were amounts paid by the Department of Justice.

Information regarding payments by the Department of Justice to private counsel representing employees and former employees of the Department of the Interior in connection with this litigation is provided in Exhibit 1 (attached), and includes the name of the individual(s) represented, the hourly rates of each individual attorney, the total number of hours billed by each attorney, total paralegal hours billed, total costs, and total dollar amounts, through July 2004. The dollar amounts listed represent the total dollar amounts paid and should not be interpreted to represent either the timing of particular work performed or timing of particular billings by an attorney or firm.

Dated: September 17, 2004

Respectfully submitted,

ROBERT D. McCALLUM
Associate Attorney General
PETER D. KEISLER
Assistant Attorney General
STUART E. SCHIFFER
Deputy Assistant Attorney General
J. CHRISTOPHER KOHN
Director
SANDRA P. SPOONER (D.C. Bar No. 261495)
Deputy Director
JOHN T. STEMPLEWICZ
Senior Trial Attorney

/s/ Timothy E. Curley

TIMOTHY E. CURLEY (D.C. Bar No. 470450)
Trial Attorney
Commercial Litigation Branch
Civil Division
P.O. Box 875, Ben Franklin Station
Washington, D.C. 20044-0875
Telephone: (202) 514-7194

2

# **CERTIFICATE OF SERVICE**

I hereby certify that, on September 17, 2004 the foregoing *Report to the Court* was served by Electronic Case Filing, and on the following who is not registered for Electronic Case Filing, by facsimile:

Earl Old Person (*Pro se*) Blackfeet Tribe P.O. Box 850 Browning, MT 59417 Fax (406) 338-7530

> /s/ Kevin P. Kingston Kevin P. Kingston

### Department of Interior

1. Clients: Bruce Babbitt, Edward Cohen, John Leshy<sup>1</sup> Represented by: Patton, Boggs

```
Robert D. Luskin:
                       $125.00 per hour - 134.05 hours =
                                                                 $ 16,756.25
Robert D. Luskin:
                       $200.00 \text{ per hour} - 312.50 \text{ hours} =
                                                                 $62,500.00^{2}
V. Heather Sibbison: $125.00 per hour - 41.75 hours =
                                                                     5,218.75
                       $125.00 per hour - 85.95 hours =
                                                                 $ 10,743.75
Patrick J. Slevin:
                       125.00 \text{ per hour} - 3.50 \text{ hours} =
Anne S. Andrew:
                                                                 $
                                                                       437.50
Michael R. Roberts:
                       125.00 \text{ per hour} - 5.00 \text{ hours} =
                                                                 $
                                                                       625.00
                       100.00 \text{ per hour} - 16.50 \text{ hours} =
Wang Zhang:
                                                                    1,650.00
David M. Tafuri:
                       $83.00 \text{ per hour} - 238 \text{ hours} =
                                                                 $ 19,754.00
David M. Tafuri:
                       $133.00 per hour - 523.80 hours =
                                                                 $ 69,665.40
Anne S. Dudley:
                       $133.00 per hour - 161.75 hours =
                                                                 $ 21,512.75
Anne S. Spiggle:
                       133.00 per hour - 46.25 hours =
                                                                     6,151.25
Paralegals:
                       $49.00 per hour - 101 hours =
                                                                     4,949.00
Paralegals:
                       $70.00 \text{ per hour} - 14.00 \text{ hours} =
                                                                 $
                                                                       980.00
Paralegals:
                       $78.00 per hour - 194.35 hours =
                                                                 $ 15,159.30
                                                                 $ 26,856.78
                                                       Total = $262,959.73
```

2. Client: Anson Baker

Represented by: Davis Wright & Tre

Represented by: Davis, Wright & Tremaine

M. Hackett: \$200.00 per hour - 0.20 hour = \$ 40.00 R. Lewis: \$200.00 per hour - 90.70 hours = \$18,140.00 A. Stuckey \$200.00 per hour - 1.40 hours = \$ 280.00 Costs = \$ 3,384.39 Total = \$21,844.39

<sup>&</sup>lt;sup>1</sup> The invoices indicate hours billed in the representation of multiple clients jointly and do not distinguish among separate clients in regard to the hours billed.

<sup>&</sup>lt;sup>2</sup> Throughout this listing of hourly rates billed by individual attorneys and paralegals there are instances where rates increase. Those increases are due to two possible circumstances. The Justice Department's private counsel retention agreement provides for a range of rates based on attorney experience level. Accordingly, rates sometimes increase as an attorney accrues more years of practice. Also, the private counsel retention agreement was revised in May 2002 to increase the hourly rates paid to private counsel.

### 3. Client: John Berry<sup>3</sup>

Represented by: Baker & McKenzie

Plato Cacheris: \$200.00 per hour - 0.50 hour = \$100.00 John F. Hundley: \$200.00 per hour - 111.50 hours = \$22,300.00 Sydney Hoffman: \$200.00 per hour - 38.90 hours = \$7,780.00 Erik A. Cox: \$133.00 per hour - 15.60 hours = \$2,074.80 Costs = \$654.87 Total = \$32,909.67

### 4. Client: John Berry

Represented by: Law Offices of Plato Cacheris

Plato Cacheris: 125.00 per hour - 6.50 hours = 6.50 hours812.50 \$125.00 per hour - 61 hours = John F. Hundley: \$ 7,625.00 John F. Hundley: 200.00 per hour - 11.75 hours = 2,350.00Sydney Hoffman: \$125.00 per hour - 22 hours = \$ 2,750.00 Sydney Hoffman: \$200.00 per hour - 5 hours =\$ 1,000.00 Erik A. Cox: \$83.00 per hour - 10.25 hours = \$ 850.75 \$78.00 per hour - 0.50 hour =Paralegals: 39.00 \$ Costs = \$ 1,344.26 Total = \$16,771.51

### 5. Client: Edith Blackwell

Represented by: Trout & Richards

Robert P. Trout:	\$125.00 per hour - 2.60 hours = \$	325.00
John T. Richards:	\$125.00 per hour - 86.30 hours = \$	
John T. Richards:	\$200.00 per hour - 40.00 hours = \$	
Amy B. Jackson:	\$125.00 per hour - 254.10 hours = \$	
Amy B. Jackson:	\$200.00 per hour - 381.70 hours = \$	76,340.00
Patricia Connelly	\$125.00 per hour - 4.70 hours = \$	587.50
Patricia Connelly:	\$200.00 per hour - 24.70 hours = \$	4,940.00
Elizabeth Fleming:	\$200.00 per hour - 2.30 hours = \$	460.00
Paralegals:	\$49.00 per hour - 0.80 hour = \$	39.20
Paralegals:	\$78.00 per hour - 8.10 hours = \$	631.80
	Costs = \$	5,361.67
	Total = \$	139,235.17

<sup>&</sup>lt;sup>3</sup> Mr. Berry was initially represented by the Law Offices of Plato Cacheris and was subsequently represented by Baker & McKenzie.

6 Client: Sharon Blackwell Represented by: Fried, Frank, Harris, Shriver & Jacobson

J. J. Brookman: \$83.00 per hour - 41.20 hours = \$ 3,419.60 100.00 per hour - 212.00 hours = 21,200.00J. J. Brookman: \$133.00 per hour - 91.90 hours = \$12,222.70 J. J. Brookman: \$83.00 per hour - 58.20 hours = D.S. Gallacher: \$ 4,830.60 125.00 per hour - 51.00 hours = 6,375.00M.R. Bromwich: M.R. Bromwich: \$200.00 per hour - 89.55 hours = \$17,910.00A.B Perry: 125.00 per hour - 186.50 hours = 23.312.50\$200.00 per hour - 22.10 hours = \$4.420.00A.B Perry: \$49.00 per hour - 17.50 hours = Paralegals: \$ 857.50 Costs = \$4634.00Total = \$99,181.90

7. Client: Michael Carr<sup>4</sup>

Represented by: Crowell & Moring

Stephen M. Byers:  $$125.00 \text{ per hour} - 41.75 \text{ hours} = $5,156.25^5$ Costs =\$ 14.00

Total = \$5,170.25

8. Client: Michael Carr

Represented by: Jones, Day

R. Cook: 125.00 per hour - 48.50 hours =6,062.50 200.00 per hour - 230.75 hours = 46,150.00R. Cook: S.L. Shadmand: 160.00 per hour - 0.50 hour = 0.50 hour80.00 133.00 per hour - 248.00 hours = 32,984.00P. McDonough: \$133.00 per hour - 14.00 hours = \$ S.S. Sperry: 1,862.00 \$133.00 per hour - 63.25 hours = \$ D.E. Scanlon: 8,412.25 Paralegals: \$78.00 per hour - 226.00 hours = \$ 17.628.00

Costs = \$20,921.98Total = \$134,100.73

<sup>&</sup>lt;sup>4</sup> Mr. Carr was initially represented by Crowell & Moring and was subsequently represented by Jones, Day.

<sup>&</sup>lt;sup>5</sup> The firm invoiced only \$5,156.25 for Mr. Byers's time, even though the product of 41.75 hours multiplied by the hourly rate of \$125.00, equals \$5,218.75. The net result was a reduced bill.

9. Client: James Cason

Represented by: Hogan & Hartson

G. Miller: \$200.00 per hour - 265.50 hours = \$53,100.00 C. Bartolomucci: \$200.00 per hour - 27.75 hours = \$5,550.00 M. Morris: \$133.00 per hour - 78.58 hours = \$10,451.14 J. Stoel: \$133.00 per hour - 242.50 hours = \$32,252.50 Paralegals: \$78.00 per hour - 41.50 hours = \$3,237.00

Costs = \$ 1,392.57 Total = \$105,983.21

10. Client: Jim Douglas

Represented by: Kathleen Voelker, Esq.

Kathleen E. Voelker: \$125.00 per hour - 109.30 hours = \$13,662.50 Kathleen E. Voelker: \$200.00 per hour - 118.40 hours = \$23,680.00

Costs = \$201.56Total = \$37,544.06

11. Client: Bert Edwards

Represented by: Covington & Burling

 Bruce A. Baird:
 \$200.00 per hour - 84.25 hours = \$16,850.00

 Michael X. Imbroscio:
 \$200.00 per hour - 72 hours = \$14,400.00

 Christopher J. Burke:
 \$133.00 per hour - 1.75 hours = \$232.75

 Nicole J. Moss:
 \$133.00 per hour - 256 hours = \$34,048.00

 Cynthia L. Garon:
 \$133.00 per hour - 41.75 hours = \$5,552.75

 Paralegals:
 \$79.00 per hour - 15.75 hours = \$1,228.50

 Costs = \$2,972.91

Total = \$75,284.91

12. Client: Timothy Elliott

Represented by: Ober, Kaler, Grimes & Shriver

Harold Belkowitz: 125.00 per hour - 0.80 hour = 0.80 hour100.00 125.00 per hour - 39.20 hours = 4,900.00Leon Rodriguez: 200.00 per hour - 113.60 hours = 22,720.00Leon Rodriguez: Martha Rogers: 125.00 per hour - 77.40 hours = 9,675.00Martha Rogers: \$200.00 per hour - 134.30 hours = \$26.860.00\$83.00 per hour - 7.20 hours =Sean E. Foster: 597.60 Jacqueline Baratian: \$133.00 per hour - 10.60 hours = \$ 1,409.80 Paralegals: \$49.00 per hour - 21.20 hours = \$ 1,038.80 \$78.00 per hour - 8.50 hours =Paralegals: 663.00 \$

Costs = \$1,235.33

Total = \$69,199.53

13. Client: Donna Erwin

Represented by: Howrey, Simon, Arnold & White

W. Bradford Reynolds: \$200.00 per hour - 30.75 hours = \$6,150.00

Costs = \$1,505.17

Total = \$7,655.17

14. Client: J. Steven Griles

Represented by: Hogan & Hartson

George Miller: \$200.00 per hour - 380.50 hours = \$76,100.00H.C. Bartolomucci: \$200.00 per hour - 5.75 hours =\$ 1,150.00 133.00 per hour - 439.75 hours = 58,486.75J. Stoel: A. Moog: \$133.00 per hour - 13 hours =\$ 1,729.00 \$133.00 per hour - 16 hours =M. Morris: \$ 2,128.00 \$78.00 per hour - 236.75 hours = Paralegals: \$ 18,466.50 \$70.00 per hour - 0.25 hour =Paralegals: 17.50 Costs =\$ 2.303.48

Total = \$160,381.23

15. Client: Kay Hayes

Represented by: Brand & Frulla

Stanley Brand: \$125.00 per hour - 1.40 hours = \$ 175.00 Andrew Herman: \$83.00 per hour - 117.45 hours = \$ 9,748.35 Andrew Herman: \$160.00 per hour - 2.20 hours = \$ 352.00 Costs = \$ 145.75

Total = \$10,421.10

16. Client: Robert Lamb

Represented by: Zuckerman, Spaeder

Roger Zuckerman: 125.00 per hour - 287.50 hours = 35,937.50Roger Zuckerman: 200.00 per hour - 130.50 hours = 26,100.00Leslie Berger Kiernan: 125.00 per hour - 147.00 hours = 18,375.00Leslie Berger Kiernan: \$200.00 per hour - 99.25 hours = \$19,850.00125.00 per hour - 39.00 hours =Carole Yanofsky: 4,875.00 Carole Yanofsky: \$200.00 per hour - 149.00 hours = \$29,800.00Meredith Cabe: \$83.00 per hour - 63.25 hours =5,249.75 \$125.00 per hour - 15.75 hours = Meredith Cabe: 1,968.75 Chaka Okadigbo: \$83.00 per hour - 46.50 hours =3,859.50 \$49.00 per hour - 2.00 hours =\$ Paralegals: 98.00 Costs = 4,160.76

Total =

\$150,274.26

#### 17 Client: Deborah Maddox

Represented by: Zwerling & Kemler

125.00 per hour - 30.87 hours = 3.858.75Lisa Kemler: \$200.00 per hour - 20.50 hours = \$4,100.00Lisa Kemler: 125.00 per hour - 1.33 hours = 166.25J.K. Zwerling.: Costs = \$357.50Total = \$8,482.50

#### 18. Client: Hilda Manuel

Represented by: Zuckerman, Spaeder

Kelly S. Austin: 125.00 per hour - 4.50 hours =562.50 William W. Taylor, III: 125.00 per hour - 0.50 hour =62.50 125.00 per hour - 62.25 hours = 7.781.25Leslie B. Kiernan: 200.00 per hour - 10.00 hours = 2,000.00Leslie B. Kiernan: 100.00 per hour - 42.00 hours = 4,200.00Carole Yanofsky: 125.00 per hour - 74.75 hours = 9.343.75Carole Yanofsky: Carole Yanofsky: \$200.00 per hour - 14.25 hours = \$2,850.00125.00 per hour - 1.50 hours =Lori Bias: 187.50 Paralegals: \$49.00 per hour - 4.50 hours =\$ 220.50 \$78.00 per hour - 2.50 hours =Paralegals: 195.00 Costs =\$ 1,224.92 Total = \$28,627.92

#### 19. Client: Neil McCaleb

Represented by: Manatt, Phelps & Phillips

B.M. Rauh: 125.00 per hour - 141.00 hours = 17,625.00200.00 per hour - 208.40 hours = \$ 41,680.00 B.M. Rauh: \$200.00 per hour - 0.90 hour =P.J. Marple: 180.00 D.A. Leib: \$83.00 per hour - 323.30 hours = \$ 26.833.90 133.00 per hour - 151.50 hour = 20,149.50D.A. Leib: \$83.00 per hour - 9.60 hours =S.J. Loope: 796.80 \$133.00 per hour - 805.00 hours = \$107,065.00 J.A. Campbell: \$133.00 per hour - 19.00 hours = E. Dang: 2,527.00 \$133.00 per hour - 21.80 hours = K.C. Arnold: 2,899.40 \$49.00 per hour - 7.60 hours =Paralegals: 372.40 \$78.00 per hour - 6.40 hours =Paralegals: 499.20 Costs = \$ 9,984.00 Total = \$230,612.20

### 20. Client: Sabrina McCarthy

Represented by: Morrison & Foerster

James E. Johnson: 125.00 per hour - 60.75 hours =7,593.75 James E. Johnson: \$200.00 per hour - 62.00 hours = \$ 12,400.00 125.00 per hour - 72.50 hours =\$ Jamie A. Levitt: 9,062.50 Jamie A. Levitt: 160.00 per hour - 290.25 hours = 46,440.00\$200.00 per hour - 3.25 hours =Jamie A. Levitt: 650.00 \$83.00 per hour - 101 hours =Angela T. Rella: 8,383.00 Angela T. Rella: 133.00 per hour - 198.50 hours = 26,400.50Brad S. Lui \$200.00 per hour - 0.50 hour =100.00 Paralegals: \$49.00 per hour - 12.00 hours = 588.00 \$78.00 per hour - 47.50 hours =Paralegals: 3,705.00 Costs = 8,829.58 Total = \$124,152.33

### 21. Client: Debra Meisner

Represented by: Coburn & Schertler

Russell Duncan: 125.00 per hour - 73.33 hours = 9,166.25Russell Duncan: \$200.00 per hour - 0.50 hour =\$ 100.00 Barry Coburn: \$125.00 per hour - 2.25 hours = \$ 281.25 Paralegals: \$49.00 per hour - 3 hours =147.00 Paralegals: \$48.05 per hour - 0.17 hour =\$ 8.17 Costs =\$ 35.56 Total = \$9,738.23

### 22. Client: William G. Myers

Represented by: Paul, Hastings, Janofsky & Walker

E. Lawrence Barcella: \$125.00 per hour - 88.80 hours = \$ 11,100.00 E. Lawrence Barcella: 200.00 per hour - 212.60 hours = \$ 42,520.00 100.00 per hour - 167.00 hours = 16,700.00Scharn Robinson: 160.00 per hour - 258 hours =Scharn Robinson: \$ 41,280.00 \$49.00 per hour - 57.30 hours =Paralegals: \$ 2,807.70 Paralegals: \$55.00 per hour - 13.00 hours =\$ 715.00 \$60.00 per hour - 27.00 hours =Paralegals: 1,620.00 \$65.00 per hour - 3.00 hours =Paralegals: 195.00 \$78.00 per hour - 37.10 hours =Paralegals: 2,893.80 Costs = \$ 4,807.42 Total = \$124,638.92

# 23. Client: Dominic Nessi

Represented by: Crowell & Moring

Miguel E. Rodriguez:	\$83.00 per hour - 898.50 hours = \$	74,575.50
Miguel E. Rodriguez:	\$133.00 per hour - 8.75 hours = \$	1,163.75
Miguel E. Rodriguez:	160.00  per hour -  21.25  hours = \$	3,400.00
Brian C. Elmer:	\$125.00 per hour - 2.50 hours = \$	312.50
Stephen M. Byers:	125.00  per hour - 718.25  hours =	89,781.25
Stephen M. Byers:	200.00  per hour - 232.50  hours =	46,500.00
Jody Goodman:	\$125.00 per hour - 10.75 hours = \$	1,343.75
Michael M. Martinez:	\$125.00 per hour - 1.50 hours = \$	187.50
F. Ryan Keith:	133.00  per hour -  8.75  hours =	1,163.75
Paralegals:	\$49.00 per hour - 32.75 hours = \$	1,604.75
Paralegals:	\$78.00 per hour - 7.25 hours = \$	565.50
	Costs = \$	9218.76
	Total = \$	229,817.01

# 24. Client: Gale Norton

Represented by: McKenna, Long & Aldridge

## 25. Clients: Kenneth Paquin, Kenneth Russell<sup>6</sup> Represented by: Arent, Fox, Kintner, Plotkin & Kahn

Jefferson Grav: 125.00 per hour - 89.30 hours = 11.162.50Jefferson Gray: \$200.00 per hour - 6.20 hours = \$1,240.00D. Jacques Smith: \$200.00 per hour - 84.80 hours = \$16,960.00Bonnie Kane: \$83.00 per hour - \$1.70 hours = \$6,781.10Bonnie Kane: \$133.00 per hour: 18.10 hours = \$ 2,407.30Paralegals: \$49.00 per hour - 9.50 hours = \$78.00 per hour - 2.90 hours = Paralegals: \$ 226.20 Costs =\$ 1.305.80 Total = \$40,548.40

# 26. Client: Willa Perlmutter

Represented by: Morgan, Lewis & Bockius

```
W.L. Gardner:
                        125.00 \text{ per hour} - 8.40 \text{ hours} = 
                                                                 1,050.00
                        200.00 per hour - 67.20 hours = 13,440.00
W.L. Gardner:
B.M. Privor:
                        100.00 \text{ per hour} - 4.60 \text{ hours} = $
                                                                  460.00
                        160.00 per hour - 75.60 hours = 12,096.00
B.M. Privor:
Paralegals:
                        $78.00 \text{ per hour} - 3.60 \text{ hours} =
                                                                  280.80
                                                   Costs = $
                                                                 2,679.67
                                                    Total = $30,0006.47
```

# 27. Client: Michael Rossetti<sup>7</sup>

Represented by: Preston, Gates, Ellis, Rouvelas & Meeds

```
E.W. Fleming:
                        125.00 per hour - 192.10 hours = 24,012.50
                        125.00 \text{ per hour} - 0.50 \text{ hour} =
B.K.:
                                                                    62.50
                        125.00 \text{ per hour} - 23.10 \text{ hours} = 2.887.50
J.J. Crain:
                        $125.00 per hour - 2.50 hours =
K.S. Knox:
                                                                  312.50
C. Blythe Houck:
                        $83.00 per hour - 1.20 hours =
                                                                   99.60
                        $49.00 \text{ per hour} - 2.80 \text{ hours} =
Paralegals:
                                                                  137.20
                                                   Costs = $ 3.197.11
                                                    Total = $30,708.91
```

<sup>&</sup>lt;sup>6</sup> The invoices indicate hours billed in the representation of multiple clients jointly and do not distinguish between separate clients in regard to the hours billed.

<sup>&</sup>lt;sup>7</sup> Mr. Rossetti was initially represented by Preston, Gates, Ellis, Rouvelas & Meeds, was subsequently represented by Elizabeth Wallace Fleming, Esq., and was thereafter represented by Trout & Richards.

28. Client: Michael Rossetti

Represented by: Elizabeth Wallace Fleming, Esq.

Elizabeth W. Fleming: \$200.00 per hour - 41.40 hours = \$8,280.00

Costs = \$177.75Total = \$8,457.75

Total = \$73,437.31

29. Client: Michael Rossetti

Represented by: Trout & Richards

 Elizabeth Fleming:
 \$200.00 per hour - 322.60 hours = \$64,520.00

 Amy Jackson:
 \$200.00 per hour - 0.10 hour = \$20.00

 John Thorpe Richards:
 \$200.00 per hour - 17.00 hours = \$3,400.00

 Robert P. Trout:
 \$200.00 per hour - 1.30 hours = \$260.00

 Paralegals:
 \$78.00 per hour - 14.30 hours = \$1,115.40

 Costs = \$4,121.91

30. Client: Kenneth Rossman

Represented by: London & Mead

Christopher B. Mead: \$125.00 per hour - 243.60 hours = \$30,450.00 Christopher B. Mead: \$200.00 per hour - 51.20 hours = \$10,240.00 Mark London: \$125.00 per hour - 1.80 hours = \$225.00 Costs = \$4,873.39 Total = \$45,788.39

31. Client: Glen Schumaker<sup>8</sup>

Represented by: Baker & McKenzie

John F. Hundley: \$200.00 per hour - 97.70 hours = \$19,540.00 \$200.00 per hour - 13.30 hours = \$2,660.00 \$133.00 per hour - 15.40 hours = \$2,048.20 \$256.21 \$256.21 \$24,504.41

<sup>&</sup>lt;sup>8</sup> Mr. Schumaker was initially represented by the Law Office of Plato Cacheris and was subsequently represented by Baker & McKenzie.

#### 32 Client: Glen Schumaker

Represented by: Law Offices of Plato Cacheris

Plato Cacheris: 125.00 per hour - 2.50 hours = 312.50125.00 per hour - 27.75 hours = 3,468.75John F. Hundley: \$200.00 per hour - 13.25 hours = \$2,650.00John F. Hundley: Sydney Hoffman: 125.00 per hour - 11.50 hours = 1,437.50Sydney Hoffman: \$200.00 per hour - 2.5 hours =\$ 500.00 Erik A. Cox: \$83.00 per hour - 3.50 hours =\$ 290.50 Paralegals: \$78.00 per hour - 0.50 hour =\$ 39.00 Costs =\$ 889.88 Total = \$9.588.13

#### 33. Client: Anne Shields

Represented by: Baach, Robinson & Lewis

Dwight P. Bostwick: \$125.00 per hour - 131.30 hours = \$16,412.50 Dwight P. Bostwick: \$200.00 per hour - 216.90 hours = \$43,380.00 Melissa H. McNiven: \$125.00 per hour - 71.60 hours = \$8,950.00 Melissa H. McNiven: \$200.00 per hour - 120.20 hours = \$24,040.00 J.D. Robinson: \$200.00 per hour - 1.60 hours =320.00 \$200.00 per hour - 65.30 hours = \$13.060.00Knapp: Paralegals: \$49.00 per hour - 65.40 hours = \$ 3,204.60 Paralegals: \$70.00 per hour - 8.60 hours = 602.00 Paralegals: \$75.00 per hour - 31.90 hours =\$ 2.392.50 \$78.00 per hour - 100.90 hours = \$7,870.20Paralegals: Costs =\$ 3.818.77 Total = \$124,050.57

#### 34. Client: Michele Singer

Represented by: Howrey, Simon, Arnold & White

#### W. Bradford Reynolds: \$200.00 per hour - 11.00 hours = \$2,200.00

Costs =\$ 813.80

Total = \$3,013.80

#### 35. Client: Thomas Slonaker

Represented by: Jackson & Campbell

James Schaller: \$200.00 per hour - 70.20 hours = \$14,040.00Benjamin Jacewicz: 133.00 per hour - 73.30 hours = 9,748.90Costs =\$ 187.05 Total = \$23,975.95 36 Client: Carol Smalley

Represented by: Piper, Marbury, Rudnick & Wolfe

125.00 per hour - 23.70 hours = 2.962.50M. Gately: L. Roulean: 100.00 per hour - 2.70 hours = 270.00

Costs =\$ 10.92

Total = \$3,243.42

37. Client: Terry Steele

Represented by: Zwerling & Kemler

John Zwerling: 125.00 per hour - 10.17 hours = 1,271.25\$200.00 per hour - 11.16 hours = \$2,232.00John Zwerling:

Costs =\$ 116.14 Total = \$3,619.39

38. Client: Stephen Swanson

Represented by: Asbill, Moffitt & Boss

L. Barrett Boss: \$125.00 per hour - 91.75 hours = \$11,468.75 L. Barrett Boss: 200.00 per hour - 218.65 hours = 43,730.00125.00 per hour - 12.80 hours = 1,600.00Timothy Junkin: Henry Asbill: 200.00 per hour = 1.50 hours =300.00 Peter Paris: 133.00 per hour - 13.15 hours = 1,748.95133.00 per hour - 26.50 hours = 3.524.50Andrew Stewart: \$49.00 per hour - 16.40 hours = Paralegals: 803.60 Paralegals: \$78.00 per hour - 14.67 hours = \$ 1.144.26

Costs = \$1,296.50

Total = \$65,616.56

39. Client: Hord Tipton

Represented by: Winston & Strawn

W Sullivan: \$200.00 per hour - 8.00 hours = \$1,600.00160.00 per hour - 11.00 hours = 1,760.00S. Hall: Costs =\$

8 60 Total = \$3,368.60

40. Client: Daryl White

Represented by: Beveridge & Diamond

A. Evangelista: 125.00 per hour - 409.75 hours = 51,218.75A. Evangelista: 200.00 per hour - 250.50 hours = 50,100.00125.00 per hour - 90 hours =I. Sultan: \$ 11,250.00 \$200.00 per hour - 6.50 hours =I Sultan: \$ 1,300.00

```
D. Krakoff:
                       $125.00 per hour - 18 hours =
                                                           $ 2,250.00
                       200.00 per hour - 2.50 hours =
D. Krakoff:
                                                           $
                                                                500.00
E. Richardson:
                       133.00 \text{ per hour} - 0.75 \text{ hour} =
                                                                 99.75
E. Richardson:
                       $200.00 per hour - 1.50 hours =
                                                                300.00
J. Citron:
                       $133.00 per hour - 479 hours =
                                                           $ 63,707.00
                       133.00 \text{ per hour} - 56.75 \text{ hours} = 7,547.75
J. Abrams:
                       $49.00 per hour - 271.75 hours = $13,315.75
Paralegals:
Paralegals:
                       $78.00 \text{ per hour} - 417.50 \text{ hours} = $32,565.00
                                                   Costs = $6,923.75
                                                   Total = $241,077.75
```